GROCO Model C-5-C Automatic Water Pressure System

Type pump: Vane Production: 1959 - 1968
Type Operation: Electric, demand TIdentification: "C5C" Cast on tank
Available
Item Part Number Part Name Qey . Yes No Comments
1 #3500 Pressure Switch 1 X
2 #3500~ARB Low Water Switch 1 X Use #35-15-ARB
3 G-36~SW Switch Diaphragm 1 X
4 Ws-21 Switch Tee 1 X
5 ws-20 Pressure Tank 1 X
6 E (Voltage) Motor 1 X
7 WpP-2100-B Pump Body Casting 1 X
8 5/16 x 3/4 HB | Bolts 2 ple
* 9 65026 Seal Assembly 1 X
10 SP-92 Rotor 1 b
* 11 SP-93 Blades Set 6 X
12 WP-2100-B Pump Body Liner 1 X
* 13 1/8 x 7 Cover O-Ring 1 x
14 WP-2101 Pump Cover 1 x Use SP-91
15 10-24 x 1/2 RB] Screws 3 X
16 10-24 x 3/8 RB| Screws 10 X
* 17 Ws-22 Check Gasket 1 b
718 #1 Woodruff Key 1 x
19 SP-95 Slinger Washer 1 X
* 20 / Seal Lock Ring 1 X
21 Motor Studs 2 X Use 10-32x1/2HB
22 10-24 HS Nuts 2 b
* Parts included in C-5-C repair Kit.

Note: Though many of the parts for this model water pressure system are no longer
available, if the entire system is returned to the factory we can usually

overhaul the system.




